O 2" 22 =99 HWolg F5HA L.

__--3eme
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EZcm E
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@ 3.74cm? @ 7cm? @9.14(:1112
@ 12.42cm? ® 18.56cm?

~&B

(2] Hol)=(A1Bo] 2cmQ ¥HIe] Wol)x2+ (FAIZFee]

Blol)
1
:1><1><3.14><§><2+3><2

=3.14+ 6 = 9.14(cm?)




1Ut}, o] =3 2] Yo|7} 37.68 cm?

T2

S

27

g e] o]

o, o] =g 9]

Q]
=

26.84.cm

ul

%

37.68

_
| <t

|:|><|:|><3.14

[ Ix[ ]x2.355=37.68
<[]

37.68 + 2.355

Dx[lzlfi

)+4—|—4

3
1

7 : (4><2><3.14><

=
=

18.84 + 8 = 26.84( cm)




3.  9F7187.92em?l ¥ OF} U] Hol7t 706.5cm? ¢ ¥ ©°] HU
ot} o] o] Z]Eo] ¥ cm H 1A] A2 AA Q.

> =

> E: £m
> e 90

> HE: 2em

469 ¥AE: [ ]

[ ]x2x3.14=287.92
[ Ix6.28 =87.92

[ |=8792+6.28

[ ]=14(cm)

A5 1 14x2 = 28(cm)
O S O
OxOx3.14 = 706.5
OxQO = 1706.5+3.14
OxO =225

O = 15(cm)

25 1 15x 2 = 30(cm)
30 — 28 = 30( cm)

4 ©9 A&°] 2cm T YT




4. the SOIH ARG HHO| Holg FaHA,

/

!
12cm
\\ -

>
[> ®e: 257.04 cm?

T 9] doj7} 12cm§l AZtol 5z
27112 o]Fo| A AFU

ofl

+(Z ol TR )x2

1
12><12><3.14><Z><2—|—12><12+2><2
whehA AR BEO] Hol=
113.04 + 114 = 257.04( cm?) @Y},




™2 WA ES Zo)7F 12ems] 9 Fo2 F2 AYYH.
T2 Holg FotAle. (1, L, v, 22 7 o B4

)O
)O

>
> ®EHD 371.52cm?

:
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el oT)

(A2 2] Wol) +(HA Bl Wol)xat (e Hol)
— (24 % 24) + (24 x 12) x 4 + (12 x 12 x 3.14)

=576 + 1152 + 452.16

= 2180.16( cm?)

(At 2] Hel)

=(AA o) - (A< Wol)x4

=2180.16 — (12 x 12 x 3.14) x 4

= 2180.16 — 1808.64

= 371.52( cm?)
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